
Metra. The World’s Best Kits.® MetraOnline.com © COPYRIGHT 2017 METRA ELECTRONICS CORPORATION REV. 7/25/25 INST99-3015G

I N S TA L L AT I O N I N S T R U C T I O N S
99-3015G

Attention!  Let the vehicle sit with the key 
out of the ignition for a few minutes before 
removing the factory radio. When testing the 
aftermarket equipment, ensure that all factory 
equipment is connected before cycling the  
key to ignition.

KIT COMPONENTS
• A) Radio housing trim panel • B) Brackets • C) Trim panel bracket • D) Pocket • E) ISO DIN pocket • F) LCD housing • G) LCD back plate  
• H) #8 x 3/8” Phillips truss-head screws (6) • I) #8 x 3/8” Phillips pan-head screws (4) • J) Panel clips (3)

TOOLS REQUIRED
• Panel removal tool • Phillips screwdriver 

TABLE OF CONTENTS
Dash Disassembly....................................... 2-3
Kit Assembly
- Optional AX-LCD installation ..............................4
- ISO DIN radio provision with pocket .................5
- DDIN radio provision ..........................................6

WIRING & ANTENNA CONNECTIONS (sold separately)
Wiring Harness: Refer to metraonline.com for audio/
video, and steering wheel control interface options.
Antenna Adapter: 40-EU55
Optional accessories: AX-LCD - Information display 
screen

Fits select Chevrolet/GMC models 2015-2020
Chevrolet Tahoe/Suburban, GMC Yukon/Yukon Denali
Visit MetraOnline.com for more detailed information about the product and up-to-date vehicle 
specific applications

KIT FEATURES
• ISO DIN radio provision with pocket
• Double DIN radio provision
• Integrated location for driver info display screen
• Painted to match factory color and finish

A B C

F

D

G H I J

E

U.S. Patent # D756,988



2 386.257.1187   |   MetraOnline.com

1. Unsnap panel above radio screen.  
(Figure A)

2. Unsnap and remove the trim panel on 
the outer driver’s edge of dash.   
(Figure B)

3. Remove (1) screw from left side of panel 
below steering column (panel does not 
need to be fully removed) (Figure C)

DASH DISASSEMBLY

4. Unsnap and remove center console 
cover. (Figure D)

5. Unsnap and remove panel above glove 
box. (Figure E)

 Continued on the next page

(Figure C) (Figure E)

(Figure B) (Figure D)

(Figure A)



REV. 7/25/2025 INST99-3015G 3

DASH DISASSEMBLY (CONT.)

6. Remove (1) 7 mm screw and remove the 
small trim next to left-center vent  
(also push-to-start in some models).   
(Figure F)

7. Remove (2) 7 mm screws from the 
radio/climate control panel then unclip 
and remove the panel. (Figure G)

(Figure G) (Figure J)

(Figure F) (Figure I)

(Figure H)

8. Remove (3) 7 mm per vent and remove 
the vents. (Figure H)

9. Remove (4) screws and remove radio. 
(Figure I)

10. Remove (2) 7 mm and remove  
CD player. (Figure J)

 Continue to Kit Assembly



4 386.257.1187   |   MetraOnline.com

If the optional AX-LCD screen is  
being installed:

1. Insert the LCD housing into the radio 
housing from the back. (Figure A)

2. Insert the LCD into the radio housing, 
route the cable through the back plate 
and then mount the back plate using 
the (2) supplied Truss-head #8 x 3/8” 
Phillips screws. (Figure A)

Note: When installed, the AX-LCD 
screen provides access to the vehicles 
Personalization Menu. See the vehicle 
owner’s manual for more information

If the LCD will not be used, snap the pocket 
in from the front of the radio housing.  
(Figure A)

Attach the (3) included plastic clips to 
the trim panel bracket and then snap the 
bracket onto the top of the radio housing 
trim panel.

 Continued on the next page (Figure A)

AX-LCD screen steps 1-2

Pocket Option

KIT ASSEMBLY



REV. 7/25/2025 INST99-3015G 5

ISO DIN radio provision 

1. Connect the radio brackets to the 
radio housing trim panel with the (4) 
#8 x 3/8” Truss-head Phillips screws 
supplied. (Figure A)

2. Mount the pocket to the bracket/panel 
assembly with the (4) #8 x 3/8”  
Pan-head Phillips screws supplied.  
(Figure B)

3. Slide the radio into the assembly and 
secure with screws supplied with the 
radio. (Figure C)

4. Locate the factory wiring harness 
and antenna plug in the dash. Metra 
recommends using the proper mating 
adapters from Metra and/or AXXESS. 
Test everything.  

5. Mount the new radio assembly into the 
dash and reassemble dash in reverse 
order of disassembly. 

KIT ASSEMBLY

(Figure A) (Figure B) (Figure C)



6 386.257.1187   |   MetraOnline.com

DDIN radio provision 

1. Connect the radio brackets to the 
radio housing trim panel with the (4) 
#8 x 3/8” Truss-head Phillips screws 
supplied. (Figure A)

2. Slide the radio into the assembly and 
secure with screws supplied with the 
radio. (Figure B)

3. Locate the factory wiring harness 
and antenna plug in the dash. Metra 
recommends using the proper mating 
adapters from Metra and/or AXXESS. 
Test everything.

4. Mount the new radio assembly into the 
dash and reassemble dash in reverse 
order of disassembly. (Figure A) (Figure B)

KIT ASSEMBLY



REV. 7/25/2025 INST99-3015G 7



Metra. The World’s Best Kits.® MetraOnline.com © COPYRIGHT 2017 METRA ELECTRONICS CORPORATION REV. 7/25/25 INST99-3015G

I N S TA L L AT I O N I N S T R U C T I O N S
99-3015G

Having difficulties? We’re here to help.

 Contact our Tech Support line at:
 386-257-1187
 Or via email at:
 techsupport@metra-autosound.com

Tech Support Hours (Eastern Standard Time)
Monday - Friday: 9:00 AM - 7:00 PM
Saturday: 10:00 AM - 5:00 PM
Sunday: 10:00 AM - 4:00 PM

Metra recommends MECP 
certified technicians



¡PRECAUCIÓN! Todos los accesorios, interruptores, 
paneles de controles de clima y especialmente las 
luces del indicador de las bolsas de aire deben estar 
conectados antes ciclar la ignición. Además, no 
quite el radio de fábrica con la llave en la posición o 
de encendido ni con el vehículo funcionando.

Metra. The World’s Best Kits.® MetraOnline.com © COPYRIGHT 2017 METRA ELECTRONICS CORPORATION REV. 7/25/25 INST99-3015G

I N S T R U C C I O N E S  D E  I N S TA L AC I Ó N
99-3015G

CARACTERÍSTICAS DEL KIT
• Provisión de radio ISO DIN con cavidad
• Provisiones de radio DDIN
• Ubicación integrada de la pantalla de información para el conductor 
• Pintado para igualar el color y acabado de fábrica

COMPONENTES DEL KIT
• A) Panel de moldura de la carcasa del radio • B) Soportes • C) Soporte del panel de moldura • D) Cavidad • E) Cavidad ISO DIN • F) Carcasa del LCD • G) Placa 
posterior del LCD • H) Tornillos Phillips #8 x 3/8” de cabeza segmentada (6) • I) Tornillos Phillips #8 x 3/8” de cabeza troncocónica (4) • J) ganchos para panel (3)

HERRAMIENTAS REQUERIDAS
• Herramienta para quitar paneles 
• Destornillador Phillips

INDICE
Desmontaje del tablero ........................................2
Ensamble del kit .................................................... 3
– . Instalación de AX-LCD opcional  ......................4
– . Provisión de radio ISO DIN con cavidad  .........5
– . Provisiones de radio DDIN ................................6

CABLEADO Y CONEXIONES DE ANTENA 
(se venden por separado)

Arnés de cableado: Visita metraonline.com  
para opciones de interfaz de control de  
audio/video y volante.
Adaptador de antena: 40-EU55
Accesorios opcionales: AX-LCD - Pantalla de 
información

Compatible con modelos Chevrolet/GMC 
seleccionados 2015-2020
Chevrolet Tahoe/Suburban, GMC Yukon/Yukon Denali
Visite MetraOnline.com para obtener información más detallada sobre el producto y aplicaciones 
actualizadas específicas para vehículos.

U.S. Patent # D756,988

A B C

F

D

G H I J

E



386.257.1187   |   MetraOnline.com2

DESMONTAJE DEL TABLERO

1. Suelte a presión el panel que está arriba 
de la pantalla del radio. (Figura A)

2. Suelte a presión y quite el panel de la 
moldura que está en el borde exterior 
del tablero del conductor. (Figura B)

3. Quite un tornillo del lado izquierdo del 
panel debajo de la columna de dirección 
(no es necesario quitar por completo el 
panel). (Figura C)

4. Suelte a presión y quite la tapa de la 
consola central. (Figura D)

5. Suelte a presión y quite el panel que 
está arriba de la guantera. (Figura E)

 Continúa en la siguiente página.

(Figura C) (Figura E)

(Figura B) (Figura D)

(Figura A)



REV. 7/25/2025 INST99-3015G 3

DESMONTAJE DEL TABLERO (CONT.)

6. Quite (1) moldura pequeña de 7 mm que 
está junto a la rejilla central izquierda 
(también de presión para iniciar en 
algunos modelos). (Figura F)

7. Quite (2) 7 mm tornillos del panel de 
control de radio/clima luego soltar y 
retirar el pael. (Figura G)

(Figura G) (Figura J)

(Figura F) (Figura I)

(Figura H)

8. Quite (3) de 7 mm por rejilla y quite las 
rejillas. (Figura H)

9. Quite los (4) tornillos y quite el radio.  
(Figurea I)

10. Quite (2) de 7 mm y quite el reproductor 
de CD. (Figura J)

 Continúe con el ensamble del kit



386.257.1187   |   MetraOnline.com4

Si se va a instalar la pantalla  
opcional AX-LCD:

1. Inserte la carcasa del LCD en la carcasa 
del radio desde atrás.  (Figura A)

2. Inserte el LCD en la carcasa del radio, 
enrute el cable a través de la placa 
posterior y luego monte la placa 
posterior usando los (2) tornillos Phillips 
#8 x 3/8” de cabeza segmentada.  
(Figura A)

Nota: Cuando se instala, la pantalla AX-LCD 
ofrece acceso al menú de personalización del 
vehículo. Consulte el manual del propietario 
del vehículo para más información.

Si el LCD no se usará, enganche la cavidad 
desde el lado delantero de la carcasa del 
radio. (Figura A)

Sujete los (3) ganchos de plástico incluidos 
en el soporte del panel de la moldura 
y luego enganche el soporte en la parte 
superior del panel de la moldura de la 
carcasa del radio.

Continúa en la siguiente página.

(Figura A)

Pasos 1-2 de la pantalla AX-LCD

Cavidad Opción

ENSAMBLE DEL KIT



REV. 7/25/2025 INST99-3015G 5

ENSAMBLE DEL KIT

Provisión de radio ISO DIN 

1. Coloque los soportes del radio en el 
panel de la moldura de la carcasa del 
radio con los (4) tornillos Phillips #8 x 
3/8” suministrados. (Figura A)

2. Monte la cavidad en el ensamble de 
soporte/panel con los (4) tornillos 
Phillips #8 de 3/8” suministrados. 
(Figura B)

3. Deslice el radio en el ensamble y 
sujételo con los tornillos suministrados 
con el radio. (Figura C)

4. Localice el arnés de cables de fábrica y 
el conector de la antena en el tablero.  
Metra recomienda que use adaptadores 
adecuados de acoplamiento de Metra 
y/o de AXXESS. Realice una prueba a 
todo el sistema.  

5. Monte el conjunto del radio en el tablero 
y vuelva a armar el tablero al revés de 
como lo desarmó. 

(Figura A) (Figura B) (Figura C)



386.257.1187   |   MetraOnline.com6

ENSAMBLE DEL KIT

Provisión de radio DDIN 

1. Coloque los soportes del radio en el 
panel de la moldura de la carcasa del 
radio con los (4) tornillos Phillips #8 x 
3/8” suministrados. (Figura A)

2. Deslice el radio en el ensamble y 
sujételo con los tornillos suministrados 
con el radio. (Figura B)

3. Localice el arnés de cables de fábrica y 
el conector de la antena en el tablero.  
Metra recomienda que use adaptadores 
adecuados de acoplamiento de Metra 
y/o de AXXESS. Realice una prueba a  
todo el sistema.  

4. Monte el conjunto del radio en el tablero 
y vuelva a armar el tablero al revés de 
como lo desarmó.

(Figura A) (Figura B)



REV. 7/25/2025 INST99-3015G 7



Metra. The World’s Best Kits.® MetraOnline.com © COPYRIGHT 2017 METRA ELECTRONICS CORPORATION REV. 7/25/25 INST99-3015G

I N S T R U C C I O N E S  D E  I N S TA L AC I Ó N
99-3015G

Metra recomienda MECP
Técnicos certificados

¿Tienes dificultades? Estamos aquí para ayudar.

 Póngase en contacto con nuestra 
 línea de soporte técnico en:
 386-257-1187
 O por correo electrónico a:
 techsupport@metra-autosound.com

Horario de Soporte Técnico (hora estándar del este)
Lunes - Viernes: 9:00 AM - 7:00 PM
Sábado: 10:00 AM - 5:00 PM
Domingo: 10:00 AM - 4:00 PM




